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Chapter 12
Chapter Test B
Multiple Choice
Circle the choice that best completes the statement or answers the question. 

1.
An example of a soil parent material is
A.
humus.
B.
volcanic ash.
C.
leaf litter.
D.
topsoil.
2.
As a farmer, you would be most concerned with the quality of the soil in the
A.
O horizon.
B.
A horizon.
C.
E horizon.
D.
R horizon.
3.
A rancher interested in the quality of the soil in her pasture might use which aspect of soil as a quick indicator of the pasture’s overall fertility?
A.
color
B.
texture
C.
structure
D.
pH
4.
In a region with strong winds, flat land, and little natural forest cover, what would you recommend in order to reduce erosion?
A.
terracing
B.
contour farming
C.
crop rotation
D.
shelterbelts
5.
The porous qualities of soil mean that which of the following can filter through the ground and pollute groundwater?
A.
minerals
B.
pesticides
C.
microorganisms
D.
nutrients
6.
What event enabled the evolution of agriculture?
A.
a warming climate due to volcanic eruptions in Indonesia
B.
a sudden growth in human population
C.
a decrease in natural prey species, such as large hooved mammals
D.
a warming climate, which ended an ice age
7.
A large area of cropland seeded with one crop is a(n)
A.
monoculture.
B.
polyculture.
C.
organic practice.
D.
traditional farming technique.
8.
One of the problematic side effects of pesticide use is the fact that
A.
pesticides kill important pollinator insects as well as insect pests.
B.
pesticides reduce crop yields, sometimes up to 50 percent.
C.
pesticide manufacturers must create new pesticides every year, requiring large investments.
D.
farmers must apply pesticides every year.
9.
A farmer has an infestation of aphids and greenflies. He introduces ladybugs, which prey on aphids, and uses a limited dose of a pesticide to deal with the flies. The farmer’s approach to insect pests is
A.
chemical control.
B.
biological control.
C.
integrated pest management.
D.
organic pest management.
10.
You would expect to find most farmers who use GM crops living in
A.
relatively poor, undeveloped countries.
B.
countries with strong environmental protection laws.
C.
countries with weak environmental laws.
D.
relatively wealthy, developed countries.
11.
Eating a lot of meat is inefficient because ______ is lost in transfer between trophic levels.
A.
10 percent of energy
B.
50 percent of energy 
C.
60 percent of energy

D.
90 percent of energy 
12.
The average food item in the United States travels 2400 km to reach the buyer. One alternative to this energy-inefficient practice is
A.
treating the food with preservative chemicals.
B.
buying locally produced food.
C.
buying organic food.
D.
buying GM food.
13.
GM foods are engineered to resist herbicides so that
A.
humans won’t be put at health risk from pesticides.
B.
insect pests will avoid the crops.
C.
the crops will grow more efficiently.
D.
farmers can use heavier doses of pesticides for weeds without killing the crop plants.
14.
One proven risk of GM crops is
A.
the escape of GM genes into non-GM crops.
B.
the risk of cancer associated with eating GM foods.
C.
increased resistance of insects to pesticides because of the pesticide resistance of GM crops.
D.
the loss of consumer support.
15.
Conservation of which of the following is dependent on the reduction of pesticide use?
A.
crop diversity
B.
pollinators
C.
landscape
D.
wildlife
Modified True/False
Indicate whether the statement is true or false. If false, change the identified word or phrase to make the statement true. 



16.
The two types of weathering are mechanical and chemical.


17.
You would expect to find smaller soil particles as you descend through the soil horizons.


18.
Internationally, the U.S. Food and Agriculture Administration promotes soil conservation and innovative farming practices.


19.
Food-growing that uses no synthetic fertilizers or pesticides is industrial agriculture.


20.
Heavy use of antibiotics in animal feedlots may lead to human health risks when bacteria develop resistance.
Completion

Complete each statement on the line provided.

21.
Rain, strong winds, and the exposure to compounds in water and air are examples of ____________________.
22.
Excessive irrigation in a dry landscape may lead to ____________________.
23.
People who lack adequate food frequently suffer from ____________________.
24.
A(n) ____________________ organism produces genes for a trait that is not originally part of its species’ gene code.
25.
In the twentieth century, a single variety of banana, the Cavendish, became the dominant commercial banana, and was planted in most of the banana-growing regions of the world. In the early twenty-first century, the Cavendish began to suffer from a fungal blight that has the potential to wipe out many major banana-growing operations. Scientists are looking for resistant genes from other types of banana, but many subspecies of banana disappeared when Cavendish monocultures became dominant. This situation illustrates the importance of maintaining ____________________.
Short Answer

Write the answers to the questions on the lines provided.

26.
Explain the possible effects on soil quality of grazing too many cattle on a single pasture.
27.
What sort of environment would be most at risk of desertification, and why? Reference human practices as well as natural environmental factors that lead to risk.
28.
Explain the difference in energy inputs in traditional and industrial agriculture.
29.
Explain some of the costs and benefits of the Green Revolution.
30.
What are some of the characteristics and strengths of sustainable agriculture?
Other 

Use the chart to answer the following questions.
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31.
Which source of animal protein in the chart is the most efficient, and why?
32.
Based on this chart, why do you think that many nations with very large populations have less meat in their diet?
33.
If you are interested in a sustainable approach to agriculture, but still want to eat some meat, what kind of diet would you design for yourself?
34.
In Africa and Asia, there are many cultures that rely on herding their livestock from one area to the next for grazing. These people exist primarily on dairy products. In such cultures, many people would be very reluctant to kill their cattle for meat. Explain how this makes sense.
35.
What happens to the calories in the 7 kg of food that the pig consumes to produce 1 kg of meat?
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